
y=sinh㸪y=cosh

y=msinh y=msinh 

y=sin h  y 

 m 

y=sin 0 1-h p  y=sin 0 1-h p  

y=sinh 

 p 

y=sinnh y=sinnh 

y=sinh 

y=sin h 
1

n

y=sin 8 9-2h
p

3
 

y=sin2h 

y=sinnh 

y=sin 0 1-h p  

y=msinh 

㸦 ᩘ Ꮫ ϩ 㸧 Ꮫ ⩦ ᣦ ᑟ ᱌

Ꮫ ⣭ 㸰 ᖺ 㸴 ⤌ ᩍ ᐊ 㸱㸰㸯ᩍᐊ ᣦᑟ⪅ 㸦┬␎㸧

༢ ඖ ➨㸲❶ ୕ゅ㛵ᩘ ᩍ⛉᭩ ᨵゞ∧ ᩘᏛϩ㸦ᩘ◊ฟ∧㸧

ᣦ ୕ゅ㛵ᩘࡢࡑࡸࣇࣛࢢࡢ࿘ᮇᛶ࡚࠸ࡘ࡟ ᣦ 㸯 ୕ゅ㛵ᩘ ͐͐㸯㸯᫬㛫

⌮ゎ࡟ࡶ࡜࡜ࡿࡏࡉ㸪୕ゅ㛵ᩘࡢᛶ㉁ࡸ┦ 㸦ᮏ᫬ࡢࡑࡣ㸷᫬㛫┠㸧

ᑟ ஫㛵ಀࡢ࡚࠸ࡘ࡟⌮ゎࡵ῝ࢆ㸪ࢆࡽࢀࡑල ᑟ 㸰 ຍἲᐃ⌮ ͐͐ 㸳᫬㛫

యⓗ࡞஦㇟ࡢ⪃ᐹ࡟ά⏝࡛ࡍ࡟࠺ࡼࡿࡁ

┠ ࠋࡿ ィ

㸪ࡋゎ⌮ࢆ⌮ຍἲᐃࡢ㸪୕ゅ㛵ᩘ࡟ࡽࡉ

ᶆ ࠋࡿࡍ࡟࠺ࡼࡿࡁ࡛⏝άࢆࢀࡑ ⏬

ᮏ᫬ࡢ୺㢟 ࣇࣛࢢࡢゅ㛵ᩘ୕࡞ࢁ࠸ࢁ࠸

๓᫬ࡢㄢ㢟 ࠋࡃ࠾࡚ࡋ⩦᚟࡚࠸ࡘ࡟ࣇࣛࢢࡢ

┠ ୕ゅ㛵ᩘࡢᛶ㉁ࡢࣇࣛࢢࢆ≉ᚩ࡟࡜ࡶࢆ⪃ᐹࡋ㸪୕࡞ࢁ࠸ࢁ࠸ゅ㛵ᩘࡁ࠿ࡢࣇࣛࢢࡢ᪉࡜࿘ᮇࡢồ

ᶆ ࠋࡿࡏࡉゎ⌮ࢆ᪉ࡵ

ᣦᑟෆᐜ ᫬㛫 ᣦᑟୖࡢ␃ពⅬ ㈨ᩱ࣭ᩍල࣭ホ౯つ‽➼

ᑟࢆᛶ㉁ࡢࣇࣛࢢࡢ ᮏ᫬ࡢᏛ⩦ෆᐜࢆ☜ㄆࡍ 㸳 ࣭
☜ㄆࠋࡿࡏࡉධ ࠋࡿ

ᣦ

㸯 㸯㸮 ࣭ ࣭ ⪄ࢆࣇࣛࢢࡢࡁ 㸪ࡣࣇࣛࢢࡢ ࠿ࡢࣇࣛࢢࡢ
ᐹࠋࡿࡍ ᪉ࡀ⌮ゎ࡛ࢆࣇࣛࢢࡢࠋ࠿ࡓࡁ ㍈᪉

࡟ྥ ಸ࡟ᣑ኱ࡣࡓࡲ⦰ᑠ 㹙▱㆑࣭⌮ゎ㹛

ᑟ ᒎ ⌮ࢆ࡜ࡇࡿ࠶࡛ࣇࣛࢢࡓࡋ 㸺ᶵჾ➼㸼࣮ࢱࢡ࢙ࢪࣟࣉ

ゎࠋࡿࡏࡉ

㸰 ࡟ࣇࣛࢢࡢ 㸯㸳 ࣭ 㸪ࡣࣇࣛࢢࡢ ࣭ ࠿ࡢࣇࣛࢢࡢ

ࠋࡿࡍᐹ⪄࡚࠸ࡘ θ㍈᪉ࢆࣇࣛࢢࡢ ࠋ࠿ࡓࡁゎ࡛⌮ࡀ᪉ࡁ

࡟ྥ ࢢࡓࡋື⛣⾜ᖹࡅࡔ 㹙▱㆑࣭⌮ゎ㹛

㐣 ࡏࡉゎ⌮ࢆ࡜ࡇࡿ࠶࡛ࣇࣛ 㸺ᶵჾ➼㸼࣮ࢱࢡ࢙ࢪࣟࣉ

ࠋࡿ

㛤 㸱 㸯㸮 ࣭ ࣭ ࠸ࡘ࡟ࣇࣛࢢࡢࡁ 㸪ࡣࣇࣛࢢࡢ ࠿ࡢࣇࣛࢢࡢ

࡚⪃ᐹࠋࡿࡍ θ㍈᪉ࢆࣇࣛࢢࡢ ᪉ࡀ⌮ゎ࡛ࠋ࠿ࡓࡁ

࡟ྥ ಸ࡟⦰ᑠࣇࣛࢢࡓࡋ 㹙▱㆑࣭⌮ゎ㹛

⛬ ࠋࡿࡏࡉㄆ☜ࢆ࡜ࡇࡿ࠶࡛ 㸺ᶵჾ➼㸼࣮ࢱࢡ࢙ࢪࣟࣉ

㸳 ࣭ᮘ㛫ᣦᑟࡋࢆ㸪ᣦᑟࠋࡿࡍ 㸲ࡓࡁ࡛ࡀ࡜ࡇࡃ࠿ࢆࣇࣛࢢ࣭ ࣇࣛࢢࡢ
࣭ ࠋ࠿

ࠋࡿࡏ࠿࠿ࢆ
࡟࡜ࡶࢆࣇࣛࢢࡢ

㹙ᩘᏛⓗ࡞ぢ᪉࠼⪄ࡸ᪉㹛࡟࡜ࡇࡃ࠿࡚ࡋẼ௜ࠋࡿࡏ࠿

ᩚ ᮏ᫬࡜ࡵ࡜ࡲࡢḟ᫬ࡢண࿌ 㸳 ࣭ㄢ㢟ࢆ☜ㄆࠋࡿࡍ

⌮ ࠋࡿࡍࢆ

ḟ᫬ࡢ ᩍ⛉᭩ 㸯㸯㸴㹼 㸯㸯㸵ࡢ⦎⩦㸯㸲㸪㸯㸳㸪㸯㸴ࢆゎࠋࡃP. P.

ㄢ 㢟

ഛ ⪃ ᬑ㏻⛉ ⌮ᆺ ⏕ᚐᩘ 㸱㸴ྡ 㸦⏨Ꮚ㸰㸱ྡ㸪ዪᏊ㸯㸱ྡ㸧


